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7=2) OHO}-Z 70242 H| 20|t ojof- Z7)p422
29| =F& LIErd LT}

F3) RAHO| A2 DHEO|AM LT HI &S XHHET XX|SH= H|SHE HESH0] ghitst =X L Ct.

=

7. SXXHAMOHOH LY 2

HEO|M RESE "2t J|EHH| 8 SHS At HHTH(ESHE Y 7|F)22 L H
= LtEteLICH
Ik

AETA(EHE XHYH 7122 L HEZRAM Y 2872 & FAAZL RE ojof-S 7l 4=

DHORFA 2 S B[ E 2ot 22 38 7| N2 E 0| EE S B7| A 2|2 327| S0 e HETL W FAHQ| WS 2ol
g & ASLCL IS E0| ES B2 A FT2(0.1%H2]) X SHHHM(HEA 0.3%) BI2= LN EXpA7L RESHA £ls BES
H| 80| S7t&LIct.
> DHORFA 2 S S|HE (EHS: DR, %)
T 2|KOSPI200 21 S A B (35 A]- T} 4 ]
Of = of = ojoyz| g ®

= = =& =4 RCEkd: gt

30,936 1,844 64,336 3,691 55 26.27
F) Y 2871 T oot FATHo ZHS O oiE 2EY|U T ERY FAQ RN R LhE HES LEHLCH
> =2 327 F4 ojoj2|HE 0| (EH2l: %)
2| KOSPI200 Q1 & A B [F= 4] - I}l ]

2023-06-11 ~ 2023-09-10 2023-09-11 ~ 2023-12-10 2023-12-11 ~ 2024-03-10

1.84 3.03 6.55
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